Estimating by rounding

Baple Home learning

Due 29.11.13

Please estimate the answer by rounding the 2-digit number to the nearest 10 and then multiplying.

	1. 3 x 45 

3 x 50 = 150

	2. 5 x 39 

   ___ x ____  =  _____



	3. 9 x 11 

   ___ x ____  =  _____


	4. 6 x 77 

   ___ x ____  =  _____



	5. 2 x 94 

   ___ x ____  =  _____


	6. 7 x 83 

   ___ x ____  =  _____



	7. 6 x 75 

   ___ x ____  =  _____


	8. 9 x 24 

   ___ x ____  =  _____



	9. 2 x 78 

   ___ x ____  =  _____


	10. 1 x 49 

   ___ x ____  =  _____



	11.  3 x 98 

   ___ x ____  =  _____


	12. 2 x 25 

   ___ x ____  =  _____




